Expoentes de 10

Encontro: Data: Pontuagao:

6,89 x 10° =
2,72 x10=
1,68 x 10 =
—3x10% =
5x 10 =
7% 10% =
7,14 x 10 =
10° =

7% 10° =

2x10° =
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Expoentes de 10

Nome:

6 x 10* = 60000
—1 x 10° = —1000
10 = 100

8 x 10* = 80000
10 = 100

4x10° =4
9x10°=9

9,96 x 10* = 99600
10° = 1000000

10° = 100000

Encontro: Data: Pontuacao:

6,89 x 10° = 6890
2,72 % 10=272
1,68 x10=16.8
—3 x 10* = -300
5x 10 =50

7% 10% = 700
7,14 x 10° =714
10°> = 100000

7% 10° = 7000

2% 10° = 2000

www.snowmath.com



https://www.snowmath.com

